ACTION MEETING – May 23, 2011 Page 1 of 21

MISSION STATEMENT

We are committed to achieving the New Jersey Core Curriculum Content Standards at all grade levels and providing a safe and supportive environment where educators inspire, empower, and encourage students to excel.

VISION STATEMENT

Students will become life-long learners, critical thinkers, and creative problem solvers who achieve success as honorable members of society.

ACTION MEETING on May 23, 2011, Cambridge Park Elementary School, One Crest Way, Aberdeen, New Jersey.

I. CALL TO ORDER

Board President Charles Kenny called the Regular Action Meeting to order at 7:05 PM.

Mr. Kenny welcomed everyone and it's great to see everyone come out to support the student achievements.

II. PLEDGE OF ALLEGIENCE

III. STATEMENT OF ADEQUATE NOTICE

Mr. Kenny read the following Statement:

"The New Jersey Open Public Meeting Law was enacted to insure the right of the public to have advance notice of and to attend the meetings of public bodies at which any business affecting their interest is discussed or agreed upon. In accordance with the provision of this act, the Matawan-Aberdeen Regional School District Board of Education advertised this meeting on May 3, 2011. The notice was sent to the Asbury Park Press, the Municipal Clerks of the Borough of Matawan and the Township of Aberdeen, and the Aberdeen-Matawan Joint Free Public Library. The notice was also placed on the district's web site."

IV. ROLL CALL

Present: Mr. Charles Kenny – President

Ms. Elizabeth Hayward - Vice President

Dr. Jeff Delaney

Ms. Anissa Esposito

Mr. Gerald Donaghue

Mr. Kenneth Aitken

Mr. Dennis Daniels

Dr. Todd Larchuk

Absent:

Ms. Patricia Demarest

ACTION MEETING – May 23, 2011 Page 2 of 21

Also Present: Mr. David M. Healy - Superintendent of Schools

Dr. Patrick Piegari – Interim Deputy Superintendent of Schools, Mr. James H. Strimple, Jr. – Interim School Business Administrator

Mr. David F. Palumbo - Asst. to the Business Administrator/Asst. Board Secretary

Mr. David Rubin - Board Counsel

V. MINUTES

A motion by Dr. Delaney, seconded by Ms. Esposito.

THE SUPERINTENDENT RECOMMENDS: That the Board of Education approve the minutes of the May 3, 2011, Organization Meeting; May 3, 2011, Action Meeting; May 3, 2011, Executive Session; May 9, 2011, Committee of the Whole Meeting; May 9, 2011, Executive Session.

UNANIMOUS VOTE:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
May 3, 2011 – Organization	8		1	
Meeting			Demarest	
May 3, 2011 - Action	8	-	1	
Meeting			Demarest	
May 3, 2011 - Executive	8		1	
Session			Demarest	
May 9, 2011 - Committee	8	·	1	
of the Whole Meeting			Demarest	
May 9, 2011 - Executive	7		1	1
Session	<u></u>		Demarest	Donaghue

VI. BOARD PRESIDENT'S REPORT

Board President, Mr. Kenny, made the following statements:

- Congratulated the students for their achievements. There will be presentations for Personal Best Week.
- Thanked the Parents of Special People.
- Congratulated staff members that are retiring.

VII. SUPERINTENDENT'S REPORT

Mr. Healy, the Superintendent of Schools made the following statement.

 Introduced Mr. Schweitzer, the Director of Special Services who will be making a presentation for Personal Best Week.

ACTION MEETING – May 23, 2011 Page 3 of 21

Mr. Robert Schweitzer, the Director of Special Services, made a presentation for Personal Best Week.

- With the help of Ms. Redzinak, recognized the following Special Olympians: Thomas D'Elia, Nico Schykerynec, Alyssa Varga, Demetrius Mendez, Carly Villanueva, Mohamad Konate, Arnav Khode, Nicholas Imperiale, Shane Frasier, Darren Frasier and Darrell Frasier. They were presented with gift cards from The Hobby Shop.
- With the help of Mr. Andrew Ginsberg from the Phoenix Soccer League recognized the following community buddies that volunteer their time for the Phoenix Winter Fun and the Soccer League program. Nicole Walling, Alex Veary, Danielle Ash, Isabella Jacome and Courtney Wassmer. Also recognized for their dedication to community service were Jim Colabelli and Bernadette Hammond.
- The respective school principals recognized the winners of the "My Hero" essay contest and the individuals that the essays were written for. Mr. Schweitzer had the "My Hero" contest. Have at H.S., M.S. and now Lloyd Road. Starting up Ms. Pat O'Keefe.
- Ms. O'Keefe, Mr. Blackmore and Mr. Pickell recognized the staff members associated with the Peer Buddy program and the following Peer Buddy Ambassadors: Adam Elliott, Christine Kenny, Susan Hoban, Dymtro Luchynets, Chloe Le Moing, Holly Richardson, Thomas D'Elia, Nico Schykerynec, Lauren Brereton, Miranda Botti, Maggie Carney, Lucia Ciaglia, Kaitlen Crocilla, Kristen Rigo, Leah Strang, Stephanie Topal and Elizabeth Young.
- There was also a video presentation on the bake shop at the high school.

Ms. Casagrande spoke about Ms. Simone Tallini and the Parents of Autistic Children organization.

Mr. Buccalato, the Mayor of Matawan read the Borough's proclamation regarding Personal Best Week. Mr. Tagliarini, the Mayor of Aberdeen accompanied Mr. Buccalato.

The school principals recognized members of their staff that were retiring. The honorees were Ms. Dix, Ms. Perry, Ms. Phillips and Ms. Rardin.

Mr. Kenny thanked the retirees for their dedication to the district and recognized the Parents of Special People and the students.

VIII.STUDENT REPRESENTATIVE'S REPORT

The student representative, Mr. Phillip Esposito made the following statements:

- At the high school, congratulated the boys and girls track team for their accomplishments. The band chorus held a car wash fund raiser on Saturday May 21st and the marching band is preparing for their performance at the Memorial Day Parade. The senior picnic will be held on June 10th.
- The Middle School is taking a proactive role in removing bullying from the school through the "Power to Learn" book.
- Ravine Drive has their literary page on the website. Teachers and students explore literature together.
- Lloyd Road held orientations for the incoming 3rd graders. They are also having their spring plant sale and taking the NJ ASK exams. June 3 is their fun day.
- Cliffwood celebrated Personal Best Week with many activities that will continue all week.
- Strathmore Elementary had their 3rd grade performance and on May 22nd they will be putting on a fashion show. The kindergarten celebration will be held on June 15th.
- Cambridge Park students and staff celebrated Personal Best Week with student work being displayed throughout the building.

IX. PUBLIC COMMENTS RELATING TO BOARD AGENDA ITEMS

There were no comments from the public.

X. CURRICULUM AND INSTRUCTION

Motion by <u>Dr. Delaney</u>, seconded by <u>Ms. Esposito</u>.

Dr. Piegari noted that on Curriculum and Instruction attachment #3, Kathy Joyce will be item #15, not item #11.

A discussion took place among the Board of Education regarding "My Learning Plan."

The Board approves the following items:

ACTION MEETING – May 23, 2011 Page 5 of 21

A. TRAVEL

1. Pursuant to travel policy#4033, the following staff for travel related to training and seminars. This travel is deemed educationally necessary and fiscally prudent, and all travel expenditures shall be directly related to and within the scope of the staff member's current responsibilities and the district's Professional Development Plan (PROGRAM ATTACHMENT #1).

POLICY: 4033 Travel/Reimbursable Expenses

RATIONALE: Required estimates to abide by law and policy. All amounts are

not to exceed.

2. Routine Business Travel 2010-2011

Policy: 4033 Travel/Reimbursable Expenses

Pursuant to Travel policy #4033, the following staff is approved for travel related to routine business for the 2010-2011 school year:

Name Position Year Total
Margaret Lathrop Teacher: Cambridge to Strathmore to Cliffwood*\$500.00

B. OTHER

1. Approve (16) sixteen Matawan Regional High School teachers to receive professional development and support needed to design thematic, problem-based curriculum that will allow for differentiation in a student-centered environment.

RATIONALE: The Matawan-Aberdeen Regional School District is designing a Freshman Initiative for 9th grade. Three teams of teachers will provide services to a total of approximately 300 students. Each team will consist of one teacher per core academic area (English /language arts, math, science, and social studies). Teachers will receive professional development June 21, 22, 23, 24, 27 and 28, 2011. As part of the training, the Freshman orientation experience to be held August 24 - 25, 2011. (PROGRAM ATTACHMENT #2).

COST: Professional Development for (16) teachers @ \$100.00/day for (8) days = \$12,800.00
Account # 20-265-200-100-00-0000-1 (NCLB – Title IIA)

Purchase Services from Innovative Designs for Education (IDE) Corp = \$25,740.00

^{*}Amended amount – Previously Board Approved for \$250.00 on 8/16/2010.

ACTION MEETING – May 23, 2011 Page 6 of 21

Account # 20-265-200-500-09-0000-0 (NCLB - Title IIA)

2. Approve (17) Seventeen Matawan Aberdeen Middle School teachers to receive professional development with a (3) three day writing institute for teachers. Writer's Workshop is an interdisciplinary writing technique which can build students' fluency in writing through continuous, repeated exposure to the process of writing.

RATIONALE: The Matawan Aberdeen Middle School is initiating a Summer Writer's Workshop Institute August 16, 17 and 18, 2011. The topics include: units of study in writing workshop, helping students write well about reading, genre studies in reading and writing memoir, poetry and short fiction, the importance of assessment-based instruction, methods of holding our students accountable for doing their best work, using literature to help students craft their writing, and classroom structures that support inquiry and collaboration. (PROGRAM ATTACHMENT #3).

COST: Professional Development for (17) teachers @ \$100.00/day for (3) days = \$5,100

Account # 20-265-200-101-00-0000-1 (NCLB – Title IIA)

Purchase Services from Staff Development Workshops = \$4,500.00 Account # 20-265-200-500-09-0000-0 (NCLB – Title IIA)

3. Approve My Learning Plan, a web-based professional development management system. My Learning Plan will facilitate the maintenance and tracking of professional development and compliance participation by empowering employees to manage their personal professional development via an online learning plan.

RATIONALE: The Matawan-Aberdeen Regional School District has entered into an agreement with My Learning Plan, Inc. (MLP) to provide a web-based professional development management system (the Management System). The Management System is comprised of a web server and a database server through which end users will be able to:

- Manage and track professional development hours/credits
- Access and create customizable on-line forms and approvals for professional development activities
- Develop a private course catalog listing professional development activities available.

COST: \$8,500.00

Account # 11-000-223-320-04-0000-0

C. Amendment in the allocation of funds for the 2009-2011 IDEA Basic ARRA Grant

It is recommended that the Matawan-Aberdeen Regional School District Board of Education approve the reallocation of funds as listed below.

FROM Account Number	TO <u>Account Number</u>	AMOUNT
20-454-100-106-00-0000-1 (Salaries)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 30,000
20-454-100-320-09-0000-0 (Purch. Prof. Srvs.)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$101,935
20-454-100-610-09-0000-0 (Supplies)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$192,439
20-454-100-890-09-0000-0 (Misc. Expenses)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 2,659
20-454-200-200-09-0000-0 (Benefits)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 2,295
20-454-200-340-09-0000-0 (Purch. Tech. Srvs.)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 46,636
20-454-200-610-09-0000-0 (Supplies)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 5,000
20-454-400-731-09-0000-0 (Equipment)	20-454-100-566-09-0000-0 (Special Ed. Tuition)	\$ 239
TOTAL		\$381,203

RATIONALE: To reallocate IDEA Basic ARRA funds in support of additional Special Education tuitions.

UNANIMOUS VOTE:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8*		1	
			Demarest	

^{*}Mr. Donaghue abstained from voting on item #50 under Personnel attachment #1 due to a conflict.

XI. PERSONNEL

ACTION MEETING – May 23, 2011 Page 8 of 21

Motion by Dr. Delaney, seconded by Ms. Hayward.

After meeting as a Committee of the Whole, the Superintendent recommends the following items for the Board of Education approval:

A. **RESIGNATIONS/RETIREMENTS**

POLICY: 4112.1 Individual Contracts-Certificated Staff

4212.1 Individual Contracts Non-Certificated Staff

NAME	LOC	POSITION	REASON	DATE OF HIRE	EFF. DATE
RARDIN, SUSAN	CL	School Library/Media Specialist	Retirement	09/01/1992	6/30/11
MATTERN, PATRICIA	MA	Teacher of Special Education	Retirement	09/01/1972	6/30/11
MADDALENA, FRANCESCA	RD	Instructional Assistant	Resignation	11/2/09	6/17/11

B. <u>LEAVES OF ABSENCE</u>

POLICY: 4151 Attendance Patterns

4151.1 Personal Illness and Injury/Health and Hardship

NAME	LOC	POSITION	TYPE OF LEAVE	WITH/ W/O PAY	EFF. DATE
LA MILIA, MARIA	СО	Accountant	Medical Leave	Without Pay	5/12/11 PM (Half Day) - 6/20/11
Di GIOVANNI, DONNA	CL	Elementary Teacher Grade 2	Maternity Leave Disability Phase	With Pay	4/26/11 – 5/6/11
			FMLA	Without Pay	5/9/11 - 6/20/11 Previously Approved 1/24/11 (Amended Dates)
RITCHIE, AMY	CL	Speech Therapist	FMLA	Without Pay	6/6/11 - 6/20/11 Previously Approved 3/28/11 (Amended Dates)
MINUE, PATRICIA	СО	Bus/Van Driver	Medical Leave	With Pay	4/8/11 – 5/2/11 (Retroactive)
			Medical Leave	Without Pay	5/3/11 – 6/3/11 (Retroactive)
PISANI, LAURA	HS	Teacher of English	Maternity Leave Disability Phase	With Pay	9/12/11 – 12/6/11
			FMLA	Without Pay	12/7/11 – 3/2/12

ACTION MEETING – May 23, 2011

Page 9 of 21

NAME	LOC	POSITION	TYPE OF LEAVE	WITH/ W/O PAY	EFF. DATE
HOLLINGER, JESSICA	СО	LDT/C	Maternity Leave Disability Phase	With Pay	9/1/11 – 10/3/11
			FMLA	Without Pay	10/4/11 = 12/22/11

C. <u>APPOINTMENTS</u>

POLICY: 4111/4211 Recruiting, Selection and Hiring

4142/4242 Salary Checks and Deductions

4122 Substitute Teachers Student Teachers/Interns

4213/4214 Assignment/Transfer

NAME	SCH	POSITION	No. Demo Lesson	STEP	SALARY/ STIPEND	# INT	REPLACE REASON	EFF. DATE
STRIMPLE, JAMES H. Jr.	СО	Interim Business Administrator/Board Secretary	N/A	N/A	\$600.00/Day Per Diem	1	Irons Resignation	7/1/11 – 6/30/12 (Amended Dates)
PIEGARI, PATRICK, Ed.D	СО	Interim Deputy Superintendent	N/A	N/A	\$540.00/Day Per Diem	1	DeLuca Resignation	7/1/11 – 6/30/12 (Amended Dates)
SLOAN, MICHELLE	LR	Teacher of Special Education Autism	0	D-06	\$50,150.00 (09/10 Guide)	3	Now (Enrollment)	9/1/11 – 6/30/12
ZULLO, LAURA	HS	Teacher of Special Education Resource Room	0	D-11	\$58,500.00 (09/10 Guide)	3	Roth (Resignation)	9/1/11 - 6/30/12

1. <u>SUBSTITUTES - 2011/2012 SCHOOL YEAR</u>

CATEGORY	ACCOUNT#		
TRANSPORTATION ASSISTANTS	11-000—270-160-05-000-9		
Minue, Tiffany	Transportation Assistant		
Nicora, Lois	Transportation Assistants		
San Martin, David	Transportation Assistants		
Terranova, Willie Mae	Transportation Assistants		
BUS/VAN DRIVERS	11-000-270-160-05-000-9		
Connallon, Matthew John	Bus/Van Driver		
De Vincenzo, Donald	Bus/Van Driver		
Fineran, Heather	Bus/Van Driver		
Peterson, Jason	Bus/Van Driver		
Powell, Apito, Deborah	Bus/Van Driver		
Rice, Pauline	Bus/Van Driver		
Rodriquez-Knudsen, Paula	Bus/Van Driver		

ACTION MEETING – May 23, 2011 Page 10 of 21

Rusek, James	Bus/Van Driver
SaintSume, Frantz	Bus/Van Driver
NURSES	
Johnson, Nicole	Substitute Nurse
Nastro, Gina	Substitute Nurse
Olufsen, Carole	Substitute Nurse
Sica, Mary Beth	Substitute Nurse

Note: The law on background checks requires ultimate clearance prior to any employment becoming final.

3. **HOME INSTRUCTORS**

I.D.	SUBJECT/ CLASS	LOC	CLASSROOM TEACHER	HOME INSTRUCTION TEACHER FOR APPROVAL	HOURS PER WEEK	NO. OF DAYS	TOTAL NO. OF HOURS PER SUBJECT/ CLASS	EFFECTIVE DATES
131031	US HISTORY 1	HS	LAMBLY, MICHELLE	LAMBLY, MICHELLE	N/A	10 Days	2 Hours	4/29/11 – 5/12/11 (Retroactive)
131031	ENGLISH 2	HS	PISANI, LAURA	TURNER, SAMUEL	N/A	10 Days	2 Hours	4/29/11 – 5/12/11 (Retroactive)
131031	GEOMETRY	HS	SAEED, ZEBUNNISA	SAEED, ZEBUNNISA	N/A	10 Days	2 Hours	4/29/11 – 5/12/11 (Retroactive)
131031	LAB CHEMISTRY	HS	MILAN, GREGORY	MILAN, GREGORY	N/A	10 Days	2 Hours	4/29/11 – 5/12/11 (Retroactive)
155845	PRE- ALGEBRA	MA	RUSSO, SUSAN	WIETECHA, CORINNE	2 Hours	15 Days	6 Hours	3/30/11 (Retroactive)
155845	LANGUAGE ARTS	MA	MATTERN, PATRICIA SPAFFORD, DANA	MATTERN, PATRICIA	2 Hours	15 Days	6 Hours	3/30/11 (Retroactive)
155845	SCIENCE	MA	MATTERN, PATRICIA RIGGLEMAN, CATHERINE	MATTERN, PATRICIA	2 Hours	15 Days	6 Hours	3/30/11 (Retroactive)
155845	SOCIAL STUDIES	MA	MATTERN, PATRICIA BEBEL, HELEN	MATTERN, PATRICIA	2 Hours	15 Days	6 Hours	3/30/11 (Retroactive)
155845	PRE- ALGEBRA	MA	RUSSO, SUSAN	WIETECHA, CORINNE	2 Hours	25 Days	10 Hours	5/12/11 - 6/20/11
155845	LANGUAGE ARTS	MA	MATTERN, PATRICIA SPAFFORD, DANA	MATTERN, PATRICIA	2 Hours	25 Days	10 Hours	5/12/11 – 6/20/11

ACTION MEETING – May 23, 2011 Page 11 of 21

I.D.	SUBJECT/ CLASS	LOC	CLASSROOM TEACHER	HOME INSTRUCTION TEACHER FOR APPROVAL	HOURS PER WEEK	NO. OF DAYS	TOTAL NO. OF HOURS PER SUBJECT/ CLASS	EFFECTIVE DATES
155845	SCIENCE	MA	MATTERN, PATRICIA RIGGLEMAN, CATHERINE	MATTERN, PATRICIA	2 Hours	25 Days	10 Hours	5/12/11 – 6/20/11
155845	SOCIAL STUDIES	MA	MATTERN, PATRICIA BEBEL, HELEN	MATTERN, PATRICIA	2 Hours	25 Days	10 Hours	5/12/11 – 6/20/11
121043	US HISTORY 1	HS	MOLLER, ROBERT	LAMBLY, MICHELLE	2 Hours	24 Days	10 Hours	4/26/11 – 5/30/11 (Retroactive)
121043	ALGEBRA 2	HS	WYNES, NICHOLE	WYNES, NICHOLE	2 Hours	24 Days	10 Hours	4/26/11 – 5/30/11 (Retroactive)
121043	ENGLISH 2	HS	PISANI, LAURA	McDEDE, MARIA	2 Hours	24 Days	10 Hours	4/26/11 – 5/30/11 (Retroactive)
121043	FORENSIC SCIENCE	HS	SCHNEIDER, ROGER	SCHNEIDER, ROGER	2 Hours	24 Days	10 Hours	4/26/11 – 5/30/11 (Retroactive)
155963	MATH SOCIAL STUDIES WRITING	LR	MAMMANO, AMY	WINTHER, MARGARET	4 Hours	15 Days	Math 1.5 SS – 1 Writing 1.5	6/1/11 = 6/20/11
155963	MATH SCIENCE/ HEALTH READING	LR	MAMMANO, AMY	LONGO, ANDREA	4 Hours	15 Days	Math 1.5 Sci/Heath 1 Reading 1.5	6/1/11 – 6/20/11
155616	MATH SOCIAL STUDIES WRITING	LR	WINCHEL, WENDY	DITRE, JENNIFER	5 Hours	10 Days	Math - 2 SS – 1 Writing -2	6/7/11 – 6/20/11
155616	MATH SCIENCE/ HEALTH READING	LR	WINCHEL, WENDY	LONGO, ANDREA	5 Hours	10 Days	Math - 2 Sci- Health - 1 Reading -2	6/7/11 — 6/20/11
143024	NJ BIOLOGY COMPETENCY TEST	HS	N/A	FEEN, KATHLEEN	N/A	N/A	5 HOURS	N/A
143024	END OF COURSE ALGEBRA 1 TEST	HS	N/A	FEEN, KATHLEEN	N/A	N/A	3 HOURS	N/A

ACTION MEETING – May 23, 2011

Page 12 of 21

RATIONALE: Home Instruction required for Student

(*) One hour per subject for ever two consecutive absences per 504.

COST: \$35.00/Hour

ACCOUNT: #11-150-100-101-03-0000-1

4. <u>COLLEGE STUDENT OBSERVER(s)</u>

NAME	COLLEGE	COOPERATING TEACHER	SCHOOL/AREA
FAYNOR, BRIANNE	FAIRLEIGH DICKINSON	BARBARA BUCCI	LR – Elementary Grade
DICIANNE	UNIVERSITY		4 STUDENT OBSERVER May 16- 27, 2011
ROCCO, ARIANNA	RAMAPO COLLEGE	MARIA Mc DEDE	HS – English STUDENT TEACHER Fall 2011 September 6, 2011 – December 2, 2011
ALFARO, CAROLYN	KEAN UNIVERSITY	CAROLYN RICCA	CL – Elementary Grade 2 STUDENT TEACHER Fall 2011 September 6, 2011 – December 19, 2011
PENA, ANA	KEAN UNIVERSITY	DONNA SAKOWSKI	RD – Elementary Grade 3 STUDENT TEACHER Fall 2011 September 6, 2011 – December 19, 2011
REYES, JUSTINE	KEAN UNIVERSITY	KAREN JENKINS	MAMS – Special Education Inclusion/History STUDENT TEACHER Fall 2011 September 6, 2011 – December 19, 2011
SANSONE, MARY	GEORGIAN COURT UNIVERSITY	KIMBERLY GRIGOLI	LR – Elementary Grade 4 STUDENT TEACHER Fall 2011 September 6, 2011 – December 16, 2011

ACTION MEETING – May 23, 2011 Page 13 of 21

RATIONALE: Student will be able to complete course work requirements toward degrees and Certifications

COST: None

EFFECTIVE DATE: 2010/2011 School year

5. MENTOR – 2010/2011 SCHOOL YEAR

NAME	Subject	Loc
SPAFFORD, DANA	Language Arts	MA

RATIONALE: Provisional Teacher assumes total responsibility for paying the Mentor Teacher pursuant to NJAC6:11-3.2c. COST: None EFFECTIVE: 2010/2011

School year

6. HIGH SCHOOL SPRING CONCERT

NAME	LOC	ACTIVITY	POSITION	STIPEND
WATSON,	HS	HIGH SCHOOL	PIANIST	\$30.00 Hour
STEPHANIE		SPRING BAND		3 Hours
		& CHOIR		Total
		CONCERT		

EFFECTIVE: June 3, 2011

7. **SUMMER THEATRE - 2011/2012**

NAME	POSITION	2010/2011
		STIPEND
VIEL, LINDA	DIRECTOR/COORDINATOR	\$6,100.00
WELLS, GERARD	DIRECTOR	\$5,530.00
MOSLEY, REMOH	VOCAL DIRECTOR	\$3,050.00
MONTIERO, EDDIE	MUSICAL DIRECTOR	\$3,110.00
MILLER, DAVID	PRODUCTION	#2.710.00
	DESIGN/CONSTRUCTION	\$3,710.00
HEBDING, EVELYN	PRODUCTION ASSISTANT	\$1,220.00
ZILG, KAREN	CHOREOGRAPHER	\$2,730.00
BUNCH, QUIENZELL	CHOREOGRAPHER	\$2,730.00
HULTS, AMANDA	TECHNICAL DIRECTOR	\$2,380.00

EFFECTIVE: June/July/August 2011

8. SUMMER THEATRE -VOLUNTEERS 2011/2012

NAME
TONI MARIE TORSIELLO
SUSAN RIPPLE
DAVE RIPPLE

9. SUMMER COMPUTER TECHNICIANS (PART TIME)

NAME	POSITION	HOURS	RATE/TOTAL
FARLEY, NICHOLAS	Technician P/T	244 Hours	\$9.00/Hour - \$2196.00
REINGOLD, CRAIG	Technician P/T	244 Hours	\$9.00/Hour - \$2196.00
SHAH, DHARA	Technician P/T	244 Hours	\$9.00/Hour - \$2196.00
TOBIAS, SAM	Technician P/T	244 Hours	\$9.00/Hour - \$2196.00
WASSERMAN, ASHER	Technician P/T	244 Hours	\$9.00/Hour - \$2196.00

RATIONALE: Summer interns serve a valuable function in the district's upkeep of computers at all schools and the administration building. Technology interns work in each building throughout the summer cleaning and maintaining district computers in preparation for the next school year.

ACCOUNT: 11-301-100-106-07-0000-9

EFFECTIVE: 7/1/11 - 8/31/11

10. **OTHER**

NAME	POSITION/HOURS	POSITION/HOURS	EFFECTIVE
GALLAGHER,	Community Liaison	Community Liaison	4/29/11 -
DARLENE	P/T	P/T	6/30/11
	24 Hours/Week	Technology Office	(Retroactive)
	(Current Hours)	29 Hours/Week	Hourly Rate
		(New Hours)	\$19.85

PERSONNEL

2. APPOINTMENTS

4111/4211 POLICY: Recruiting, Selection and Hiring 4142/4242 Salary Checks and Deductions

> 4123 Substitute Teachers Student Teachers/Interns

4213/4214 Assignment/Transfer

APPOINTMENTS/REAPPOINTMENTS:

THE SUPERINTENDENT RECOMMENDS: That the Board of Education approve the appointment/reappointment of the individuals listed on PERSONNEL ATTACHMENT # 1

The Board also directs the Superintendent or his designce to notify those individuals of their appointment/reappointment in accordance with the contractual provisions pertaining.

NOTE: All appointments/reappointments are subject to all applicable laws, regulations, policies, and bargaining agreements. In the case of unforeseen budgetary constraints or

ACTION MEETING – May 23, 2011

Page 15 of 21

enrollment/placement changes, additional non-renewals or reductions in force may be required. Reassignments and transfers may be made by the Superintendent via recommendation to the Board at any time in accordance with applicable statutes, regulations, or policies. All of the above is also subject to any applicable provisions or individually executed contracts.

EFFECTIVE DATE: 2011/2012 school year and/or fiscal year and/or short-term contract, as appropriate for the category so assigned.

UNANIMOUS VOTE:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8		1	
			Demarest	

XII. FINANCE / TRANSPORTATION

Motion by Dr. Delaney, seconded by Ms. Esposito.

After meeting as The Committee of the Whole with the Superintendent, the Board approves the following items:

A discussion took place among the Board of Education regarding the financial advisor services and the lease purchase of a District bus and truck.

A. BUSINESS OPERATIONS

1. **Bills List for May, 2011.** (Available for review in Board Secretary's Office) *POLICY: 3326 Payment for Goods and Services*

April, 2010, Payroll		\$2,959,265.76
May, 2010, Bills List		\$1,523,106.94
	TOTAL:	\$ 4,482,372.70

2. Transfer of Funds for April, 2011. (Available for review in Board Secretary's Office)

POLICY: 3160 Transfer of Funds Between Line Items/Amendments/Purchases Not Budgeted

WHEREAS NJAC 6:20-2.13 "Over expenditure of Funds" states "a district Board of Education shall not incur any obligation or approve any payment in excess of the amount appropriated by the district Board of Education in the line item pursuant to NJAC 18A:22-8.1".

NOW THEREFORE BE IT RESOLVED that the attached line item transfer be approved:

ACTION MEETING – May 23, 2011 Page 16 of 21

- 3. The Report of the Treasurer (Month ending April, 2011) which is in agreement with the Board Secretary's Report. (Available for review in Board Secretary's Office) POLICY: 3571 Financial Reports
- 4. The Board Secretary's Financial Report for the month of April, 2011 as follows. (Available for review in Board Secretary's Office)

 POLICY: 3571 Financial Reports

The Board of Education hereby accepts the Board Secretary's Financial Report for the month of April, 2011, as per the procedure instituted by the State Department of Education, wherein the required certification by the Board Secretary is adhered to in the attachment.

Pursuant to N.J.A.C. 6:20-2:13(e), the Board of Education certify that as of April 30, 2011; and after review of the Secretary's monthly financial report for the same month (appropriations section), and upon consultation with the appropriate district officials, to the best of their knowledge no major account or fund has been over expended in violation of N.J.A.C. 6:20-3:13(b), and that sufficient funds are available to meet the District's financial obligations for the remainder of the fiscal year.

5. Work Associated With Repair, Placement and/or Replacement of Surveillance/Alarm System Equipment - Renewal at 0% Increase for the 2011-2012 School Year.

It is recommended that the Matawan-Aberdeen Regional School District Board of Education in accordance with 18A:18A-42n renew the contract with Garden State Fire and Security Alarm Company, Inc. for 2011-2012 school year after a finding that the contract is being implemented in an efficient manner and there is no increase in the contract costs.

A.	Total monthly monitoring for all locations:	\$235.00
B.	Panel Monitoring:	\$0.00
C.	Cost of labor per hour for weekdays:	\$90.00
D.	Cost of labor for per hour weekends and holidays:	\$90.00
E.	Material discount stated as a 10% discount off list price; and	

6. LEASE PURCHASE BIDDING /FINANCIAL ADVISORY SERVICES

It is recommended that the Matawan-Aberdeen Regional Board of Education enter into a contract with the Middlesex County Educational Services Commission to provide Financial Advisory Services for the purpose of acquiring lease purchase financing for the purpose of acquiring a truck with a snow plow and a 54 passenger school bus at a fee of \$500 according to the terms stated below.

Pursuant to the official action taken at the meeting of the Board of Education of the Matawan-Aberdeen School District, County of Monmouth, NJ ("hereinafter referred to as the "Board"), held on _______, the Board agrees that the Middlesex Regional Educational Services Commission (hereinafter referred to as the "Commission"), shall provide Lease Purchase Bidding/Financial Advisory Services.

ACTION MEETING – May 23, 2011 Page 17 of 21

The terms of this Agreement shall be in effect from the date of adoption by the Board until <u>funding of the financing</u>. The Board may withdraw from this contract with the Commission by providing written notice to the Commission at any time. The Board agrees to compensate the Commission for all work completed prior to termination.

The Board agrees to pay the Commission \$500 for these services. The following payment schedule is hereby agreed to: 100% of the fee upon closing of the lease purchase. No other funding is due to the Commission in order to operate this program.

Commission Responsibilities:

The Commission will provide the following services:

- A. Free budgetary advice on aggregating anticipated acquisitions, determining the best use of budgeted funds in structuring a lease purchase transaction, the preparation and delivery of a budgetary repayment schedule delineating principal and interest components for the anticipated term of the lease purchase.
- B. Identifying and educating potential financial institutions in lease purchase for public entities thereby creating a pool of informed bidders for the lease purchase offerings.
- C. (The following fall under the billable components of the service) the service includes the accumulation and preparation of necessary financial information of client for potential bidders to make an informed credit decision prior to bidding. This will include the conversion of the last three years' audits and current budget to PDF format which will be uploaded to the web upon release of bid.
- D. Pre-bid conference with the School Business Administrator or their designee to finalize the collateral balance of the lease purchase offering, finalize the structure of the repayment schedule to be bid and schedule the date of the lease purchase bid.
- E. Prepare the bid specification for the lease purchase bid, outlining financing highlights, repayment structure and criteria for award of bid. Prepare form of public notice and transmit it to the client in time to publish in their official paper. Upload bid specifications and financial information to the web for contemporaneous release with date of publication of public notice. E-mail identified financial institutions notice of the release of bid. These services are subject to review and approval by the Board's attorney.
- F. Field any and all questions regarding the lease purchase bid posed by potential bidders, posting amendments to the bid when indicated.
- G. On day of bid opening, have copies of bid sent to the Commission, where we conduct a review of submitted documents for compliance. Review and analyze responsible proposals submitted. Develop a report to the client's Board with recommendation for award. Prepare and submit proposed form of resolution awarding the bid. These services are subject to review and approval by the Board's attorney.
- H. Critical to the success of this program, on behalf of our clients, is the posting of the results of the bid to the web. This must be done the day of or day after the bid to ensure bidders see the results. This practice creates a self-pricing model which benefits our clients by creating a nexus of rate referral for potential bidders in subsequent bids.
- I. Monitor closing process with client, client's counsel, and bidder to ensure successful funding.

ACTION MEETING – May 23, 2011

Page 18 of 21

Board Responsibilities:

The Board will provide the following information:

- A. Provide either in PDF or hard copy the last three years' audited financial statements, current and proposed budget and any other pertinent financial information as may be deemed necessary to facilitate a successful bid.
- B. Discussion with the School Business Administrator or designee regarding financing needs, what is budgeted and structuring the proposed lease purchase repayment schedule to best meet the fiscal needs of the Board.
- C. Equipment list or project description of items to be included in the financing.
- D. All legal services are subject to review and approval by the Board's attorney.
- 7 APPROVE ARCHITECT CONTRACT WITH USA ARCHITECTS FOR ROOF REPLACEMENT PROJECT AT CAMBRIDGE PARK ELEMENTARY SCHOOL

It is recommended that the Matawan-Aberdeen Regional School District Board of Education approve a contract with USA Architects in the following amounts in connection with the Roof Replacement Project at Cambridge Park Elementary School:

Phase 10A – DOE Application	not to exceed	\$ 5,000
PROJECT PHASE		
Phase 10 - Investigation and Design	n Phase	\$ 3,000
Phase 30 - Construction Documen	ts Phase	\$12,000
Phase 40 – Bidding Phase		\$ 3,000
Phase 50 - Construction Administra	ration Phase	<u>\$_6,000</u>
Total Project Phase		\$24,000

8. AUTHORIZE SUBMISSION OF THE CAMBRIDGE PARK ELEMENTARY SCHOOL ROOF PROJECT TO THE DEPARTMENT OF EDUCATION AND AUTHORIZE THE ARCHITECT AND BUSINESS ADMINISTRATOR TO AMEND THE DISTRICT'S LONG RANGE FACILITY PLAN

It is recommended that the Matawan-Aberdeen Regional School District Board of Education authorize USA Architects to submit plans for the Roof Replacement Project at the Cambridge Park Elementary School to the New Jersey Department of Education and, if necessary, authorize USA Architecture and the School Business Administrator to amend the District's Long Range Facility Plan.

B. TRANSPORTATION

Transportation Route Renewals for 2011-2012 school year

It is recommended that the Matawan-Aberdeen Regional School District Board of Education in accordance with N.J.A.C. 6A:27-9.13 renew the following contract routes for 2011-2012 school year after finding that the contracts are being implemented in an efficient manner and there is no increase in the contract costs.

RTE.	DESTINATION	CONTRACTOR	# OF	PER	EFFEC.	COST
#			DAYS/	DIEM/	DATE	
15-61-5-5			TRIPS	TRIP		

ACTION MEETING – May 23, 2011 Page 19 of 21

SRA	Within Monmouth	Shamrock Stage	60	\$228.00	9/1/11-	\$13,680.00
54-1	County or	Coach, Inc			6/30/12	+ ,
	Middlesex County					
SRA	Within Monmouth	Shamrock Stage	10	\$228.00	9/1/11-	\$2,280.00
24-1	County or	Coach, Inc			6/30/12	
	Middlesex County				<u> </u>	
SRA	Within Union	Shamrock Stage	60	\$251.00	9/1/11-	\$15,060.00
54-2	County, Somerset	Coach, Inc			6/30/12	
	County, Ocean					
	County or					
	Mercer County					
SRA	Within Union	Shamrock Stage	10	\$251.00	9/1/11-	\$2,510.00
24-2	County, Somerset	Coach, Inc			6/30/12	
	County, Ocean					
	County or					
	Mercer County					
SRA	Other within NJ	Shamrock Stage	17	\$251.00	9/1/11-	\$4,257.00
54-3		Coach, Inc			6/30/12	
SRA	Other within NJ	Shamrock Stage	4	\$251.00	9/1/11-	\$1,004.00
24-3		Coach, Inc			6/30/12	
SRA	Outside NJ	Shamrock Stage	8	\$399.00	9/1/11-	\$3,192.00
54-4		Coach, Inc			6/30/12	, = , = , = . = .
SRA	Outside NJ	Shamrock Stage	2	\$399.00	9/1/11-	\$798.00
24-4		Coach, Inc			6/30/12	
SRA	Athletic Shuttle	Shamrock Stage	105	\$78.00	9/1/11-	\$8,190.00
54-5	1-way	Coach, Inc			6/30/12	,
	Destinations	•				
654/655	St. John Vianney/	Shamrock Stage	180	\$217.00	9/1/11-	\$39,060.00
	St. Benedict/	Coach, Inc			6/30/12	,
	Strathmore					
					GRAND	\$90,031.00
					TOTAL	•

UNANIMOUS VOTE:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN	
	8		1		
			Demarest		

XIII. PUBLIC COMMENTS RELATING TO ADDITIONAL CONCERNS

Ms. Martinez, of Cliffwood Beach, addressed the Board of Education on the following:

- Mr. Daniels performing for the children.
- The Parent Portal
- Bus routes and the recommendation of Shamrock as a vendor.

ACTION MEETING – May 23, 2011 Page 20 of 21

Ms. Spells, Principal of Cambridge Park Elementary School, addressed the Board of Education on the following:

• Invited the Board to the MOST program being held on Wednesday May 25th. He stated roughly 50 students participate in the program.

Ms. Kerigan, of 40 Cross Road in Matawan, addressed the Board of Education on the following:

 Concerned that the Lloyd Road Elementary school is not doing anything about bullying.

XIV. UNFINISHED BUSINESS

There was no unfinished business from the Board.

XV. NEW BUSINESS

Dr. Delaney and Mr. Donaghue discussed the retirement of Ms. Phillips and her impact on the students.

Mr. Aitken spoke about the quality of the production of the Middle school spring musical.

XVI. EXECUTIVE SESSION – PERSONNEL, GRIEVANCES AND NEGOTIATIONS.

A motion by Mr. Donaghue, seconded by Ms. Esposito, to enter into Executive Session for Personnel, Grievances and Negotiations.

The Board adjourned the public portion of the meeting at 9:18 PM.

The Board went entered into Executive Session for Personnel, Grievances and Negotiations at 9:19 PM.

The Board exited Executive Session at 10:55 PM.

The Board reconvened the public portion of the meeting at 10:56 PM.

ACTION MEETING – May 23, 2011

Page 21 of 21

XVII. ADJOURNMENT

A motion by Ms. Esposito, seconded by Mr. Donaghue.

RECOMMEND: That the meeting be adjourned. The Regular Action meeting adjourned at 10:57 PM.

UNANIMOUS VOTE:

ROLL CALL VOTE:	AYES	NAYS	ABSENT	ABSTAIN
	8		1	
			Demarest	

Respectfully submitted,

James H. Strimple, Jr.
Interim Business Administrator/Interim Board Secretary

APPROVED STAFF TRAVEL 2010 - 2011 05/23/11

SUB YES/NO		2 2	SN SN	9	ON	YES	YES	S
TOTAL	022E 00	\$0.00	00:0\$	\$225.00	\$199.00	\$195.00	\$0.00	00.08
MEALS	>	×	×	×	×	×	×	×
LODGING	×	×	×	×	×	×	×	×
TOLLS- PARK	×	×	×	×	×	×	×	×
MILEAGE	00 08	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
REGIS. FEE	\$225.00	\$0.00	\$0.00	\$225.00	\$199.00	\$195.00	\$0.00	\$0.00
TITLE	Spring School Law Forum, 2011	Strauss Esmay's 26th Annual Educational Policy and School Law Seminar	Strauss Esmay's 26th Annual Educational Policy and School Law Seminar	Spring School Law Forum, 2011	Childhood Apraxia of Speech - Practical Assessment and Treatment Methods for Devetoping More Intelligible Speech (IDEA Grant)	Direct Instruction: Reading Mastery 1, Teaching Children with Autism to Read (IDEA Grant)	NJ Forensic League	Counselor of the County Celebration Breakfast for the Monmouth County Counselor of the County 2011 Award
LOCATION	N.J. Principals and Supervisors Association Headquarters, Monroe Township, N.J.	Brookdale Community College, Lincroft, NJ	Brookdale Community College, Lincroft, NJ	N.J. Principals and Supervisors Association Headquarters, Monroe Township, N.J.	Bureau of Education and Research, Newark, NJ	05/24/11 - The College of New Jersey, 05/25/11 Ewing, NJ	Somerset County Education Association, Bound Brook, NJ	New Jersey City University, Jersey City, NJ
DATES	06/07/11	06/10/11	06/10/11	06/07/11	05/26/11	05/24/11 - 05/25/11	06/01/11	05/25/11
BUILD	BOE	BOE	BOE	BOE	03	HS	HS	HS
NAME	Esposito, Anissa	Esposito, Anissa	Hayward, Elizabeth	Kenny, Charles	Klugman, Rivkah	Barrett, Edward	Bauwens, Gail	Main, Pam

APPROVED STAFF TRAVEL 2010 - 2011 05/23/11

$\overline{}$						_	
		8			9		
		\$0.00			\$0.00	TOTAL \$844.00	
		×			×	TOTAL	
		×			×		EED.
		×			×		T TO EXC
		\$0.00			\$0.00		TS ARE NO
		\$0.00			\$0.00		LL. AMOUN
Counselor of the County Celebration Breakfast for the	Monmouth County Counselor of	the County 2011 Award		NJ Schools to Watch	Information Sessions		* REQUIRED ESTIMATES TO ABIDE BY LAW AND POLICY. ALL AMOUNTS ARE NOT TO EXCEED
	New Jersey City University,	05/25/11 Jersey City, NJ	PSE&G Training and	Development Center, Edison,	7		* REQUIRED ESTIMATES TO
		05/25/11			05/24/11 NJ		
		뫈			MA		
		Ninger, Ellen	************	Blackmore,	Tyler		

(PROGRAM ATTACHMENT #2)

Approve (16) sixteen Matawan Regional High School teachers to receive professional development and support needed to design thematic, problem-based curriculum that will allow for differentiation in a student-centered environment.

Teacher	Days/Rate	Total
 Deborah Goldberg 	6/\$100.00	\$600.00
2. Robert Carnovsky	5/\$100.00	\$500.00
3. Amber Fegan	8/\$100.00	\$800.00
4. Jessica Furman	8/\$100.00	\$800.00
5. Marc Komito	8/\$100.00	\$800.00
6. Charles Marsh	8/\$100.00	\$800.00
7. Geoffrey Massimini	8/\$100.00	\$800.00
8. Effie Provines	8/\$100.00	\$800.00
9. Kim Rogers	8/\$100.00	\$800.00
10. Louise Tomasello	8/\$100.00	\$800.00
11. Rose-Mary Turley	4/\$100.00	\$400.00
12. David Miller	3/\$100.00	\$300.00
13. Kathleen Quinn	8/\$100.00	\$800.00
14. William Vina	8/\$100.00	\$800.00
15. Kathy Feen	8/\$100.00	\$800.00
16. Marie Hitchman	6/\$100.00	\$600.00
17. Suzanne Doucette	8/\$100.00	\$800.00
18. Rochelle Francis	8/\$100.00	\$800.00

Cost: Professional Development for (16) teachers @ \$100.00/day for (8) days = \$12,800.00 Account #

Purchase Services from Innovative Designs for Education (IDE) Corp = \$25,740.00 Account #

(PROGRAM ATTACHMENT #3)

Approve (17) seventeen Matawan Regional Middle School teachers to receive professional development and support needed to design thematic, problem-based curriculum that will allow for differentiation in a student-centered environment.

1. Christine Monro, 7 (Eng)	3/\$100	\$300.00
2. Emily Hawrylko, 6 (Eng)	3/\$100	\$300.00
3. Cynthia Sobieski, 7 (Eng)	3/\$100	\$300.00
4. Kristine Nilsen, 7 (Eng)	3/\$100	\$300.00
5. Kimberly Pape, 8 (Eng)	3/\$100	\$300.00
6. Theresa DiNoia, 7 (Eng)	3/\$100	\$300.00
7. Beth Chodkiewicz, 6 (Eng)	3/\$100	\$300.00
8. Robert Knoepfel, 7 (Eng)	3/\$100	\$300.00
9. Nancy McInerney, 6 (SS)	3/\$100	\$300.00
10. Maureen Montano, 7 (POR)	3/\$100	\$300.00
11. Kathy Joyce, 8 (POR)	3/\$100	\$300.00
12. David Miller, HS (SS)	3/\$100	\$300.00
13. Helen Bebel, 8 (SS)	3/\$100	\$300.00
14. Sean Cronin, 6 (Sci)	3/\$100	\$300.00
15. Kathy Joyce, 6 – 8 (SPED)	3/\$100	\$300.00
16. Michael Redmond, 8 (Math)	3/\$100	\$300.00
17. Marla Sieman (Eng)	3/\$100	\$300.00

Total \$5,100.00

			Revision 1
<u></u>	LAST NAME	FIRST NAME	JOB TITLE
1	Reed	Darla	ADMINISTRATIVE ASSISTANT - PAYROLL
			ADMINISTRATIVE ASSISTANT/CONFIDENTIAL
2	Randazzo	Catherine	SECRETARY
3	Palumbo	David	ASSISTANT TO THE INTERIM SCHOOL BUSINESS
			ADMINISTRATOR/ASSISTANT BOARD SECRETARY
	-		DELLA VIO DIO T
4	Trezza	Andrea	BEHAVIORIST
5	Barkawitz	Edward	BUS/VAN DRIVER
6	Bloomer	Kathleen	BUS/VAN DRIVER
7	Bunzel	Richard	BUS/VAN DRIVER
8	Cinquegrana	Susan	BUS/VAN DRIVER
9	Conte	Loretta	BUS/VAN DRIVER
10	Debek	Ewa	BUS/VAN DRIVER
11	Fineran	Melissa	BUS/VAN DRIVER
12	Hampton Ifantis	Mary	BUS/VAN DRIVER
14	Kaeser	Stavros	BUS/VAN DRIVER
15		Regina	BUS/VAN DRIVER
16	Kosbab	Kelli	BUS/VAN DRIVER
17	Logue Maltese	Doreen Ronald	BUS/VAN DRIVER
	Minue		BUS/VAN DRIVER
19	Nazarian	Patricia	BUS/VAN DRIVER BUS/VAN DRIVER
	Northington	Gregory Cleo	BUS/VAN DRIVER
21	Pisarczyk		BUS/VAN DRIVER
	Ramsey	Margaret Holly	BUS/VAN DRIVER
23	Reinhold	Catherine	BUS/VAN DRIVER
24	Sturt	Frank	BUS/VAN DRIVER
25	Thomas	Corinne	BUS/VAN DRIVER
	Zeller	Kerri	BUS/VAN DRIVER
	Gallagher	Darlene	COMMUNITY LIAISON - P/T
	Puleo	Carla	CONFIDENTIAL SECRETARY
	Sheard	Debra	DIRECTOR OF ACCOUNTABILITY
	Schweitzer	Robert	DIRECTOR OF SPECIAL SERVICES
	Farley	Greg	DIRECTOR OF TECHNOLOGY
	Morillo	Deborah	EDUCATIONAL MEDIA SPECIALIST
	Coccio	Isabelle	HALL AIDE-10 MOS
	El - Rehawy	Magdy	HALL AIDE-10 MOS
	Harris	Darryl	HALL AIDE-10 MOS
	Jackson	William	HALL AIDE-10 MOS
37	Dugal	Kevin	INFORMATION SYSTEMS OPERATIONS MANAGER
	Alston	Lisa	INSTRUCTIONAL ASSISTANTS-10 MO
		1-104	1.101110011011110-10 MO

				Revision 1
	LAST NAME	FIRST NAME	JOB TITLE	
39	Banafato	Frank	INSTRUCTIONAL ASSISTANTS-10 MO	
40	Barnes	Brittany	INSTRUCTIONAL ASSISTANTS-10 MO	
41	Brown	Lisa	INSTRUCTIONAL ASSISTANTS-10 MO	
42	Brudner	Hillary	INSTRUCTIONAL ASSISTANTS-10 MO	
43	Cannella	Mary	INSTRUCTIONAL ASSISTANTS-10 MO	
44	Carrante	Marlene	INSTRUCTIONAL ASSISTANTS-10 MO	
45	Collins	Sharon	INSTRUCTIONAL ASSISTANTS-10 MO	
46	De Michele	Karen	INSTRUCTIONAL ASSISTANTS-10 MO	
47	De Nardo	Anna Marie	INSTRUCTIONAL ASSISTANTS-10 MO	
48	Dhume	Valerie	INSTRUCTIONAL ASSISTANTS-10 MO	
49	Diaz-Valle	Evelyn	INSTRUCTIONAL ASSISTANTS-10 MO	
50	Donaghue	Lori	INSTRUCTIONAL ASSISTANTS-10 MO	
51	Doyle	Kathleen	INSTRUCTIONAL ASSISTANTS-10 MO	
52	Edelstein	Joy	INSTRUCTIONAL ASSISTANTS-10 MO	
53	Feihl	Ann-Margaret	INSTRUCTIONAL ASSISTANTS-10 MO	
54	Fileccia	Laura	INSTRUCTIONAL ASSISTANTS-10 MO	
55	Folchetti	Mary Ann	INSTRUCTIONAL ASSISTANTS-10 MO	
56	Gerrity	Mary Ann	INSTRUCTIONAL ASSISTANTS-10 MO	
57	Griffith	Elizabeth	INSTRUCTIONAL ASSISTANTS-10 MO	
58	Gross	Jillian	INSTRUCTIONAL ASSISTANTS-10 MO	
59	Grosso	Cheryl	INSTRUCTIONAL ASSISTANTS-10 MO	
60	Hardock	Dana	INSTRUCTIONAL ASSISTANTS-10 MO	
	Harnett	Deborah	INSTRUCTIONAL ASSISTANTS-10 MO	
	Hebding	Evelyn	INSTRUCTIONAL ASSISTANTS-10 MO	
	Incorvaia	Caroline	INSTRUCTIONAL ASSISTANTS-10 MO	
	Jablonski	Joyce	INSTRUCTIONAL ASSISTANTS-10 MO	
	Johannesen	Michele	INSTRUCTIONAL ASSISTANTS-10 MO	
66	Kops	Leslie	INSTRUCTIONAL ASSISTANTS-10 MO	
67	Kruzik	Jacqueline	INSTRUCTIONAL ASSISTANTS-10 MO	
68	Letowsky	Beth	INSTRUCTIONAL ASSISTANTS-10 MO	
	Mackey	Latieffa	INSTRUCTIONAL ASSISTANTS-10 MO	
	Maida	Michele	INSTRUCTIONAL ASSISTANTS-10 MO	
71	Mandelbaum	Raellen	INSTRUCTIONAL ASSISTANTS-10 MO	
	Marsh	Ann	INSTRUCTIONAL ASSISTANTS-10 MO	
73	Moore	Ryan	INSTRUCTIONAL ASSISTANTS-10 MO	
74	Moscinski	Janet	INSTRUCTIONAL ASSISTANTS-10 MO	
75	Norwood	Janice	INSTRUCTIONAL ASSISTANTS-10 MO	
76	O' Brien	Denise	INSTRUCTIONAL ASSISTANTS-10 MO	
77	Osmanovic	Milena	INSTRUCTIONAL ASSISTANTS-10 MO	
78	Pallitto	Nancy	INSTRUCTIONAL ASSISTANTS-10 MO	П

			Revision 1
	LAST NAME	FIRST NAME	JOB TITLE
79	Perullo	Diane	INSTRUCTIONAL ASSISTANTS-10 MO
80	Peters-Esposito	Mindy	INSTRUCTIONAL ASSISTANTS-10 MO
81	Prewitt	Caroline	INSTRUCTIONAL ASSISTANTS-10 MO
82	Radoncic	Ermina	INSTRUCTIONAL ASSISTANTS-10 MO
83	Ratcliffe	Jill	INSTRUCTIONAL ASSISTANTS-10 MO
84	Rigney	Penny	INSTRUCTIONAL ASSISTANTS-10 MO
85	Sansone	Mary	INSTRUCTIONAL ASSISTANTS-10 MO
86	Shaw	Rachel	INSTRUCTIONAL ASSISTANTS-10 MO
87	Stein	Rachel	INSTRUCTIONAL ASSISTANTS-10 MO
88	Szymanski	Barbara	INSTRUCTIONAL ASSISTANTS-10 MO
89	Walling	Linda	INSTRUCTIONAL ASSISTANTS-10 MO
90	Walsh	Nancy	INSTRUCTIONAL ASSISTANTS-10 MO
91	Wassmer	Deborah	INSTRUCTIONAL ASSISTANTS-10 MO
92	Williams	Devenn	INSTRUCTIONAL ASSISTANTS-10 MO
93	Yourth	Mary Lou	INSTRUCTIONAL ASSISTANTS-10 MO
94	Zitzman	Denise	INSTRUCTIONAL ASSISTANTS-10 MO
95	Cotter	Shawn	MAINTENANCE
96	Hamzic	Hidajet	MAINTENANCE
97	Matos	Silvino	MAINTENANCE
98	Vitolo	Anthony	MAINTENANCE
99	West	Jai	MAINTENANCE
100	Caldwell	Sheila	NURSE
101	Koch	Bridget	NURSE
	Mallozzi	Catarina	NURSE P/T
	Nestor	Susan	NURSE
	Burge	Micah	PSYCHOLOGIST II
	Pearsall	Susan	PSYCHOLOGIST II
106	Blackmore	Tyler	PRINCIPAL- MS
107	Emili	Jessica	SCHOOL LIBRARY/MEDIA SPECIALIST
108	Gross	Zachary	SCHOOL LIBRARY/MEDIA SPECIALIST
109	Fischetti	Judith	SECRETARY 10 MONTHS
	Liebowitz	Karen	SECRETARY 10 MONTHS
111	Reingle	Patricia	SECRETARY 10 MONTHS
	Uriarte	Ana	SECRETARY 10 MONTHS
113	Dlugokenski	Carol	SECRETARY -12 MONTHS
114	El - Rehawy	Lois	SECRETARY -12 MONTHS
115	Failla	Francine	SECRETARY -12 MONTHS
116	Festa	Grace	SECRETARY -12 MONTHS
117	Georgalas	Florence	SECRETARY -12 MONTHS
	Giaimo	Mary	SECRETARY -12 MONTHS

	LAST NAME	FIRST NAME	JOB TITLE
119	Giornalista	Patricia	SECRETARY -12 MONTHS
	Lambert	Elizabeth	SECRETARY -12 MONTHS
	Lemma	Cheryl	SECRETARY -12 MONTHS
	Mc Guinness	Linda	SECRETARY -12 MONTHS
	Monaco	Angela	SECRETARY -12 MONTHS
	Palumbo	Susan	SECRETARY -12 MONTHS
125	Pellicione	Harriet	SECRETARY -12 MONTHS
126	Prinzi	Maria	SECRETARY -12 MONTHS
127	Schnakenberg	Paula	SECRETARY -12 MONTHS
	Schoen	Peggy	SECRETARY -12 MONTHS
129	Weissman	Linda	SECRETARY -12 MONTHS
130	Wustrow	Cora	SECRETARY -12 MONTHS
131	Zanghi	Nancy	SECRETARY -12 MONTHS
132	Zubritsky	Carole	SECRETARY -12 MONTHS
	Buffa	Thomas	SUPERVISOR OF OPERATIONS & MAINTENANCE
	Barrett	Edward	TEACHER
	Barry	Tara	TEACHER
	Baumert	Deana	TEACHER
137	Buonomo	Teresa	TEACHER
	Burfeindt	Craig	TEACHER
139	Colao	Raquel	TEACHER
	Conrad	Christina	TEACHER
	Costello	Laurie	TEACHER
	Craparo	Michael	TEACHER
_	Cronin	Sean	TEACHER
	Diaz	Oscar	TEACHER
	Fiorino	Meghan	TEACHER
	Fisco	Kristen	TEACHER
	Generoso	Susan	TEACHER
	Haar	John	TEACHER
	Hawrylko	Emily	TEACHER
$\overline{}$	Hensel	Christopher	TEACHER
$\overline{}$	Hromyak	Tara	TEACHER
	Kaeser	Stephanie	TEACHER
	Kahaly	Vanessa	TEACHER
	Klugman	Rivkeh	TEACHER
	Komito	Marc	TEACHER
	Lambly	Michelle	TEACHER
	Lenihan	Christine	TEACHER
158	Marbach	Jonathan	TEACHER

PERSONNEL ATTACHMENT #1

	1	<u> </u>	Revision 1
	LAST NAME	FIRST NAME	JOB TITLE
	<u>Massimini</u>	Geoffrey	TEACHER
	Mastrangelo	Lauren	TEACHER
161	Merlo	Jayne	TEACHER
	Mizzi-Andriola	Amanda	TEACHER
163	Monzo	Jess	TEACHER
164	Moreno	Vanessa	TEACHER
165	Morrison	Hollieann	TEACHER
166	Paris	Lauren	TEACHER
167	Pede	Joseph	TEACHER
168	Petillo	Jennifer	LDT/C
	Pickell	Lee	TEACHER
170	Polakowski	Shannon	TEACHER
171	Preiser	Sheryl	TEACHER (Title Correction)
172	Preuss	Rosalie	NURSE (Title Correction)
	Schneider	Roger	TEACHER
	Sobieski	Cynthia	TEACHER
1	Stanek	Jacqueline	TEACHER
	Trimboli-Pappas	Alyssa	TEACHER
	Vasile	Lauren	TEACHER
178		William	TEACHER
179	Werner	Kelli	TEACHER
	Wojtaszek	Jacqueline	TEACHER
	Dela Rosa-Hona	Lara	TRANSPORTATION ASSISTANT
-	Fineran	Heather	TRANSPORTATION ASSISTANT
	Jones	Hazel	TRANSPORTATION ASSISTANT
	Kostelnik	Karen	TRANSPORTATION ASSISTANT
	Nazarian	Gloria	TRANSPORTATION ASSISTANT
	O'Leary	Grace	TRANSPORTATION ASSISTANT
	Raymond	Diana	TRANSPORTATION ASSISTANT
188	Robles-Arroyo	Vanessa	TRANSPORTATION ASSISTANT
189	Rosoff	Jenny	TRANSPORTATION ASSISTANT
190	Gardner	Veronica	TRANSPORTATION COORDINATOR
191	Merz	Christine	TRANSPORTATION DISPATCHER

		•	C
			C